DESCRIPTION

DRAWING

ADJ CHAN GUARD RAIL

A22043—00-000G

ADJ CHAN "L” ROD

24—440

ADJ CHAN GD RL MTG ANG

B22207—-00—000H

GUARD RAIL STRAP

A22121—-00-000G

ACGR MTG CHAN

B22256—00—000H

DWG # |HARDWARE LIST #
A22121 23
B22881 23

s | B22209 161

s | B22256 168

a | B22881 23

s | B22207 14

GD RL MTG CHAN

L—ROD

FLA

HEX BOLT

—~
S

GD RL MTG ASSY
VIEW A—A

NOTE:
2' SECT TO 10" SECT
USES (2) MTG ANGLES

SHORTER SECTIONS USE ONLY (1)

o|a|~|o|a|s|wiv=(E

3/8"—16x3/4" GR#2 ZN HHCS 23-400
1/4" X 5/8" LG BOLT 23-192
3/8"—16 ZN SERRATED FLANGE NUT 23-470
10
11 | 1/4” X 5/8" LG BOLT 23-192
12 | 1/4"-20 FLANGE NUT 23-293
13 | ADJ CHAN GD RL SPLICE ANG B22881-00—-000G
14 | L-BOLT B22209-00—000H

EXPLODED VIEW
(ONE SIDE SHOWN ONLY)

14

DOUBLE NOSEOVER

¢

NOTCH VIEW

NOTCH TO BE DETERMINED BY GUARD LOCATION.
NOTCH GUARD RAIL TO DESIRED ANGLE
AND BEND AS SHOWN.

+
SINGLE NOSEOVER

08/17/18 | ADDED HDWR LIST

12/10/12 | 23-192 WAS 23-240

05/16/12 | AD'D B22209-00-000H L-ROD

07/08/08 | CHCD VIEWS TO NEW DESIGN ACGR

06/25/07 | B22256 WAS A22041

822205 WAS B22849: ADD HARDWARE

09/26/05 | 23-478 1 1/4°HHCS WAS 23-420

06/19/03 | AD'D B22881-00-000 ITEM #13

08/15/02 | AD'D PARTY 24-833 TO TITLE BLOCK

02/21/00 | 24-440 WAS A22044 23-400 WAS 24-420

S E0EEEEEERAR
§
3

2/11/00 | REVSED TO INCLUDE ALL APPLICATIONS OF GD RL

DATE__ | CHANGES

TME
STR & N

ISOVR
ADJ CHAN GD RL INSTALL

[OATE

2/1/% | B22205-00-000H

NEXT ASSEMBLY

= | FaD-103

DRAWING NUMBER




